| dE/dx estimator 1 |

0.25

0.2

0.15

0.1

0.05

20487
2.716
1.742

Entries
Mean
Std Dev

23052
2.692
1.721

Entries
Mean
Std Dev

......................................................................

Ratio

0.9

LB BLER R IE ' S

0.8

01 2 3 4 5 6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

0.2

0.15

0.1

0.05

- - - - - —| Entries
0.25 i iiressesdoreesoneencien| yean

20487
2.665
1.806

Std Dev

23052
263
1.771

Entries
Mean
Std Dev

Ratio
=

0.9

0.8

01 23 45 6 7 8 9 10

dE/dx, trunc40

—=— DQM_mKkFit_TTbase

0.25f

0.15}

0.05¢

0.2}

0.1

CTTITeS ZUFOT

4.38
4.8
23052

4.708
5.058

Mean
Std Dev

Entries
Mean
Std Dev

....................................................................

T '|"I"I‘"I"'I'

Ratio

10}
1.2
1.2

LA AR kLA

=

dE/dx number of measurements

—e— DQM_mkFit_TT_retrainOldFiles125 v2_prelimWP_5iter
: : U.3[

0.7

0.6

0.5

0.4

0.3

0.2}

0.1

o+

1

Rati

0.95
0.9

dE/dx

0 10 20 30 40 50 60 70 80

| Entries
¢ | Mean

. [ Std Dev

.....................................................................

number of measurements with saturation



	Contents
	Page 1


